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QUESTION 1

Refer to the picture. 

LMNO is a square. 

If the length of KL is 8 and the length of LO is 3, what is the area of the rectangle JKMN? 

A. 24 

B. 28 

C. 33 

D. 36 

Correct Answer: C 

 

QUESTION 2

Select the word that is most nearly the same in meaning as the word in capital letters. BEDEVIL 

A. torment 

B. enchant 

C. bore 

D. scorn 

Correct Answer: A 

 

QUESTION 3

Which number is divisible by 9 with a remainder of 1? 
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A. 181 

B. 180 

C. 179 

D. 178 

Correct Answer: A 

 

QUESTION 4

Select the word that is most nearly the same in meaning as the word in capital letters. DUBIOUS 

A. reckless 

B. industrious 

C. serious 

D. skeptical 

Correct Answer: D 

 

QUESTION 5

The sum of 3 consecutive integers is 30. 

Compare the quantity in column A to the quantity in Column B. 

A. The quantity in Column A is greater. 

B. The quantity in Column B is greater. 

C. The two quantities are equal. 

D. The relationship cannot be determined from the information given. 

Correct Answer: A 
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